| Efficiency vs Dxy |
0.1

B 0,00
< A T T
R e
o A T T
OO e A S S S
QORE
005+ “H-~ ------- _—

0,04+t

dxy

effi

o e e
R R 1 At

Y Gy A

1.

Ratio

=
!
»

.
i
T

0955 56-16-10 -5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_TT__original
| Efficiency vs Dz | | —=— DQM_TT__initOnlyFWDO_PU

—+— DQM_TT__initOnlyFWDO_PU
.g 0. : : :

£0.09
>

.5008

O [ : : : : :
= 0.07¢ B N I I 1 1 B froreeeees R R 1 R i
() r : : : : :

o6l htplls
005t g
ror Y S NN N | 5 1A

0.03EH

0.02f-5-H-1

.L.L,O I |

TTT T[T T T T TTIIT
——
——

3
* .’" #| [

Ratio

£ +|[
| %

30 20 -10 0 10 20 30
TP dz (cm)

0.95



	Contents
	Page 1


